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Question: 1

Given that Z is a standard normal random variable, P (-1.25 (  Z ( 2.25) is    
Answer:

a. 0.9878

b. 0.8413

c. 0.8822 (Answer) 

d. 0.9332

Xx ----------------------------------X---------------------------------- xX
Question: 2

Given that the random variable X is normally distributed with a mean of 80 and a standard deviation of 10, P ( 75 < X < 90 ) is 

Answer:

               a.    0.3085
         b.    0.5328(Answer)

         c.  – 0.5328

               d.     0.6915
Xx ----------------------------------X---------------------------------- xX
Question: 3

The portion of the universe that has been selected for analysis is called
Answer:

              a.   a sample(Answer)
              b.    a frame.
              c.    a parameter.

              d.    a statistic
Xx ----------------------------------X---------------------------------- xX
Question: 4

A summary measure that is computed to describe a characteristic of an entire population is called           
Answer:

              a.    a parameter(Answer)
              b.    a census.

              c.    a statistic.

              d.    the scientific method.

Xx ----------------------------------X---------------------------------- xX
Question: 5

Norm Abrams, the host of Creative Cottages, suggests that the completion time of a home remodeling project is normally distributed with a mean of 150 workdays and a standard deviation of 6.5 workdays. The probability that your project will be completed between 138 and 162 workdays is:
Answer:

                           a.   0.0322

                           b.   0.9678

                           c.    0.9356(Answer)

               d.    0.4678
Xx ----------------------------------X---------------------------------- xX
Question: 6

An economist is interested in studying the incomes of consumers in a particular region. The sample standard deviation is known to be $1,000. A random sample of 35 individuals resulted in an average income of $15,000. What will be the 98% confidence interval for the mean income?                  
Answer:

              a.   $12,355 and $14,756


           b.   $14,655 and $ 15,345

 
           c.   $14,000 and $16,112


           d.   $14,670.5 and $15,329.5(Answer)
Xx ----------------------------------X---------------------------------- xX
Question: 7

Normal distribution is the continuous probability distribution that has
Answer:

              a.    Positive skewness

              b.    Negative skewness

              c.    Zero skewness(Answer)

Xx ----------------------------------X---------------------------------- xX
Question: 8

Consider the given set of population.

       { 4 ,5 , 5 , 7 , 11, 2 ,9}

How many samples will be drawn with the sample size of 3, if sampling is done    both with and without replacement? (Just write the total number !)

Answer:

              Sample = 35(without replacement), 

              Sample= 343(with replacement)     

Xx ----------------------------------X---------------------------------- xX
Question: 9

(a) The registrar of a college is asked to conduct the survey among 4000 population of students. He is planning to do the probability sampling for selecting 200 students as a sample to measure satisfaction level of students with the quality of campus life.. What type/types of probability sampling method would you take and why? Justify your selection method
(b)  If students are divided on the basis of gender, semester etc, what kind of sampling would it be and what can be its advantages?  
Answer:

Answer: (a)

We use Systematic sampling instead of Simple Random Sampling. As this question carries homogenous data, there is no representation of Student and are quite simple and easy to execute and understand and also have low risk factor.
Answer: (b)

Stratified Sampling is used in this case because it carries heterogeneous data and stratified sampling provides greater precision (more accuracy), shows less variability and often requires a smaller sample which is time and cost efficient.  
Xx ----------------------------------X---------------------------------- xX
Question: 10

Determine the table values for z and t      
· Z= -2.96  
· Z=  4.60 

· Z value when CI is 65%    
· N= 30  at 75% CI   

· N= 14  at 50% CI  

Answer:

· Z= -2.96                                   Answer:     0.00154 
· Z=  4.60                                   Answer:      0.9999

· Z value when CI is 65%          Answer:      0.94

· N= 30  at 75% CI                     Answer:      1.3114

· N= 14  at 50% CI                     Answer:      0.6938
Xx ----------------------------------X---------------------------------- xX
Question: 11

(a)Users of a large computer system have been complaining about its slow response time. Management has decided to study the problem. Project guidelines requires 80% confidence in the results and maximum allowable level of error to be 0.5.A small pilot study shows the variance to be 2.25.How large a sample should be taken? 

 (b) What would be the margin of error if sample of 30 is taken?         
Answer:
Given Date:

Confidence level = 80%

Error = 0.5

Variance = 2.25

Sample = 30 (for part b)

Answer: (a)

                 Sample = 15

Answer: (b)

                 Error = 0.3532810496

Xx ----------------------------------X---------------------------------- xX
